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1 EKEREHERDO [AER : SMTE8A228 (K). X% : £]

BR[| KB [kFA4|eneronz|zina g senmg| paan|rrson] 8 Ex
B (pH) [=kE BD) (SS) (DO) (Cd) (Pb) (As)
ERE [*C] [-] [mg/L] | [mg/L] | [mg/L] |wwPN/toon]] [mg/L] | [mg/L] | [mg/L]
1| o iR 9.5 2.71 - - - - 0.0013| 0.086| 0.026
2 | & W 8.7 2.72 - - - - 0.0010[ 0.044| 0.026
3 |BA & R - - - - - - - - -
4 1= R - - - - - - - - -
5 |& & = 18.4 4.81 - - - - 0.0001| <0.005| <0.005
6 | K FE B 19.7 5.12 - - - - <0.0001| <0.005| <0.005
1 (% 18.9 4.98 3.0 5.4 10.3 300 - - -
8 |8 KF 18.9 4.53 25 5.2 9.6 800 - - -
9 | m BB 21.6 5.40 3.0 11.0 9.4 270 - - -
10 |/\ K 48 21.4 5.92 2.6 4.8 9.4 500 - - -
B . S0 | 2T | 25K | 7.551E |1.00084F|0.00351 | 0.01 4 F [0.01LLF
EHE | kiR [Escax{zzgay(rruonlhUSAlarveyal 28 [7rz=vs FR
(T-Hg) (Na) (K) (Ca) (T-Fe) (A) (Zn)
SR Hh [mg/L] | [pS/cm] | [mg/L] [ [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L]
1 [Z ® jR|<0.0005| 1460 462 0.93| 9.60 15.50| 11.80 0.066
2 |i® & #t| <0.0005| 1330 446 1.23 0.93 8.90 14.80| 10.90 0.061
3 A E R - - - - - - - - -
4 1% R - - - - - - - - -
5 |& & m|<0.0005 902 86 1.87 0.48| 4.80 0.05| 0.68 0.018
6 |X F 15| <0.0005 77 89 2.27 0.51|  4.90 0.05| 0.46 0.018
1 (% - 68 - 2.01 - 4.33 - - -
8 | B KF - 73 - 1.93 - 4.26 - - -
9|17 B 4 - 75 - 2.57 - 4.49 - - -
10 )\ K & - 82 - 2.74 - 4.77 - - -
IRIEE%E  |0.0005F - - - - - - - -
1 RPD T-] &, RBFEERT,




£ 1EKEREFERQ [AER : FMTFE8A228 (K). X% : £]

5H W [RoAU][ET OL[EnF | RERA 4 BB A U]7 =S4
_ (Cu) (Mn) | (T-Cr) | (1) | (NOg) | (SO) |44 am
AE [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L]
112 @ R 0.013 0.17 0.014 0.80 <0.1| 371.0 <0.2
2 Ii® & ¥ 0.010 0.37 0.013 0.80 <0.1] 358.0 0.20
3 (B & R| - - - - - - -
4 |= R| - - - - - - -
5 |& M =m| <0.005 0.05 [ <0.001 0.80 <0.1 27.0 <0.2
6 |K ¥ #| <0.005 0.05| <0.001 1.30 <0.1 25.0 <0.2
1 |3 I - - - 0.98 - 22.6 -
8 1B KF - - - 1.16 - 24.3 -
9 |F B - - - 1.46 - 24.0 -
10 )\ K #3 - - - 2.27 - 24.1 -
RIEE#E - - - - - - -
X1 RpD -] (F. RAFERT,




F2EKERERERD [AEB : SFTEI08108 (K) . Xix : £]
BR | KE [kEAA|enernnxzinas|senre| Apann|orzon]  # ER
RE (pH) |22 @D | (SS) (DO) (Cd) (Pb) (As)
FE S [°C] (-] [mg/L]1 | [mg/L] | [mg/L] [men/toon1| [mg/L] | [meg/L] | [me/L]
112 o R 8.9 253 - - - - 0.0001| 0.069| 0.035
2 [i® & # 8.5 259 - - - - 0.0009| 0.043| 0.037
3 [ E R - - - - - - - - -
4 & Rl - - - - - - - - -
5 [& R & 13.1 474 - - - - 0.0003| <0.005| <0.005
6 | XK T 1B 11.3 4.76 - - - - 0.0003| <0.005| <0.005
7 1% N 11.2 4.96 1.9 6.0 12.2 <2| - - -
8 | A KA F 11.5 5.03 2.2 4.6 11.8] 11.0 - - -
9 |7 B 5 15.7 6.35 1.4 3.2 10.7 14 - - -
10 [/\ K 48 14.3 6.44 1.4 1.8 11.1| 3,000 - - -
gy 6 -~ | S8 | 2uF | 25BIF | 7.580k |1,00051T|0.0085F|0.0LEL T | 0.0151
EHE | kiR [Escax{zzgay(rruonlhUSAlarveyal 28 [7rz=vs FR
(T-Hg) (Na) (K) (Ca) (T-Fe) (AD) (Zn)
SRE Hh = [mg/L] | [wS/cm] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L]
1 |®& o iR|<0.0005( 1,330 398 3.19 1.14| 8.00| 1500 9.70| 0.050
2 ;2 & #]<0.0005| 1,250 373 2.90 1.04| 7.30| 1250 8.10| 0.046
3 A E R - - - - - - - - -
4 |x R - - - - - - - - -
5 [& i m|<0.0005 181 146 4.02 0.99| 12.10 0.08/ 2.08| 0.017
6 [K F #3| <0.0005 189 129 7.43 0.82| 19.00 0.07| 1.35| 0.014
T 1% - 166 - 424 - 10.78 - - -
8 B KF - 134 - 3.55 - 7.83 - - -
9| Fm BB - 90 - 4.36 - 4.65 - - -
10 |)\ K #&[ - 97| - 433| - 4.98 - - -
IRIEE%E  |0.0005F - - - - - - - -
X1 Rhd -] (&, RAEERT,




%2 BAEHEHRO (HEE  SATEI0F108 (K. K& -
5H W [RoAU][ET OL[EnF | RERA 4 BB A U]7 =S4
_ (Cu) (Mn) | (T-Cr) | (1) | (NOg) | (SO) |44 am
AE [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L] | [mg/L]
112 @ R 0.017 0.16 0.012 0.60 <0.1| 344.0 0.22
2 Ii® & ¥ 0.093 0.25 0.011 0.60 <0.1] 306.0 <0.2
3 (B & R| - - - - - - -
4 |= R| - - - - - - -
5 |& i M| <0.005 0.14 | <0.001 1.20 <0.1 78.0 <0.2
6 [K T #5| <0.005 0.12 | <0.001 1.60 <0.1 70.0 <0.2
1 |3 I - - - 1.51 - 67.0 -
8 1B KF - - - 1.55 - 51.4 -
9 |F B - - - 5.00 - 19.4 -
10 )\ K #3 - - - 5.27 - 21.2 -
RIEE#E - - - - - - -
X1 RpD -] (F. RAFERT,
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